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F.Y.B. Com. Examination - 2009
BUSINESS ECONOMICS (MICRO - 1)
(Old 2004 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagrams wherever necessary.

Q.1) Answer the following in 20 words each : (Any Ten) [20]
(1) Define Micro Economics.
(2) What do you mean by ‘Basic Economic Problems’ ?
(3) What is Market Mechanism ?
(4) Define Demand.
(5) What is Price Elasticity of Demand ?
(6) What is Marginal Revenue ?
(7) What is the meaning of Internal Economies ?
(8) What is Variable Cost ?
(9) What is Price Discrimination ?
(10) Define Duopoly.
(11) Define Rent.
(12) What is ‘Real Wages’ ?
(13) What is Profit ?
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Q.2) Answer the following in 50 words each : (Any Two) [10]

(1) Explain the scope of Business Economics.
(2) Explain the Law of Demand.
(3) Explain the concept of Selling Cost.
(4) State the Dynamic Theory of Profit.
Q.3) Answer the following in 150 words each : (Any Two) [20]
(1) Explain the determinants of Elasticity of Demand.
(2) Explain different types of Costs.
(3) Explain the types of Monopoly.
(4) Describe the Ricardian Theory of Rent.
Q.4) Answer the following in 300 words each : (Any Two) [30]
(1) Distinguish between Micro Economics and Macro Economics.
(2) Explain the Law of Variable Proportions.
(3) What are the features of Perfect Competition ? Explain the short
run equilibrium of a Firm under Perfect Competition.
(4) Describe the Liquidity Preference Theory of Interest.
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HJAT
1) Td 997 3TTTH e,
(2) IFAGIBSIT 3% geAId GOL AT FA A
(3) SMIITHEAT AT AT GIAF ATHAT FIa.
q.1) TN WG o IFid ST AT ¢ (FiuTddt <20 [20]
(1) GgeAw@eT AmETEr HASAT .
(2) WA MYF T TS B
(3) NI IAIM WIS HI 9
(4) \TETOTRT ST A
(5) WM fFAd Tarawdr |OSt B ¢
(6) WA GTHl WU B 7
(7) @ TOd B/ B ?
(8) dwSHdl TH WU B 7
(9) WS BN P 7
(10) waTrRepRrEt (Duopoly) =TT .
(11) ST AT .
(12) ddg d9dq BN s 9
(13) %1 B/ HwI 9
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q.2) A G $o UsFid I [T :  (HIUTAEt <€) [10]

(1) s T AT Tse B,
(2) wOOET HEE W $.
(3) Toft T H@hcgaT T .
(4) dwErET MaEEaaT Ragia i,
9.3) T F9A= 340 Eid I8 {o7ar @ (Furdet i) [20]
(1) wAWETen @argsdd HURE 9eh e F
(2) T fOafeg g T F:W.
(3) WHHENE [OfaY gHR T F.
(4) T wsfavgs e faew &
.4) Tl 9T 300 ST IR {(al : (HIodal i) [30]
(1) Jgeacelt RIS M7 FAI@ET MAMACA Beeh T il

(2)
(3)

(4)

deicdl ARV ERE e b,

qut et AT HIOTA MR ¢ IOT T STITHRIET AR
i T B

ST USAT 99dl [osia fase .
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